id:4 level: O
17:CO0C1 C2C3C4
C5C6C8C9C10C11
Cl12 C13C14 Ci15C1le C17

136: CO = C1(CO0C1)CO = C2(C0C2)CO =C3(C0C3)Co =cCc4(coc4a)co =cch(coch)
CO = C6(C0OC6)CO =C8(COC8)CO =C9(COCO9)CO = C10(COC10)CO = C11(COC11)CO = C12(C0OC12)

CO = C13(C0C13)C0O0 = C14(C0C14)C0 = C15(C0C15)C0O0 =C16(C0OC16)CO =C17(C0OC17)C1 =C2(C1C2)
Cl =C3(C1C3)C1 =C4(C1C4)C1 =Ch(C1Ch)C1 =CoH(C1CB)C1 =C8(C1C8B)C1 =C9(C10C9)
Cl = C10(C1C10)C1 = C11(C1C11)C1 = CI2(C1C12)Cl = C13(C1C13)C1 = C14(C1C14)C1 = C15(C1C15)

1 =Cl16(C1Cl16)Cl1l = C17(C1C17)C2 = C3(C2C3)C2 = C4(C2C4)C2 =C5(C2C5)C2 =C6(C2Cb)
C2 = C8(C2C8)C2 =C9(C2C9)C2 = C10(C2C10)C2 =CI1(C2C11)C2 = C12(C2C12)C2 = C13(C2C13)
C2 = Cl14(C2C14)C2 = C15(C2C15)C2 = C16(C2C16)C2 = C17(C2C17)C3 = (C4(C3C4)C3 = C5(C3Ch)
C3 =C6(C3C6)C3 =C8(C3C8)C3 =0CY(C3C9)C3 =C10(c3C10)Cc3 =cC11(c3c11)c3 =-c1z2(c3ci2)
C3 = C13(C3C13)C3 = C14(C3C14)C3 = C15(C3C15)C3 = C16(C3C16)C3 = C17(C3C17)C4 = C5(C4C5)
4 = C6(C4C6)C4 =C8(C4CB)C4A =CH(C4C9)C4 =C10(C4C10)C4 = C11(C4C11)C4 = C12(C4C12)
C4 = C13(C4C13) C4_=_C14( C4C14)C4 = C15(C4C15)C4 = C16(C4Cl6)C4 = C17(C4C17)C5 = C6(C5C6)
C5 = C8(C5C8)C5 =C9(C5C9)C5 = C10(C5C10)Ch = C11(C5C11)C5 = C12(C5C12)C5 = C13(C5C13)
C5 = C14(C5C14)C5 = C15(C5C15)C5 = C16(C5C16)C5 = C17(C5C17)C6 = C8(C6C8)Cb6 = C9(C6C9)
C6 = C10(C6C10)C6 = C11(C6C11)C6 = CI12(C6C12)C6 = C13(C6C13)C6 = C14(C6C14)C6 = C15(C6C15)
C6 = C16(C6C16)C6 = C17(C6C17)C8 = C9(C8C9)C8 = C10(C8C10)C8 = C11(C8C11)C8 = C12(C8C12)
C8 = C13(C8C13)C8 = C14(C8C14)C8 = C15(C8C15)C8 = C16(C8C16)C8 = C17(C8C17)C9 = C10(C9C10)
C9 = Cl11(C9C11)C9 = C12(C9C12)C9 = C13(C9C13)C9 = C14(C9C14)C9 = C15(C9C15)C9 = C16(C9Cl6)

C9 = C17(C9C17)C10 = C11(C10C11)C10 = C12(C10C12)C10 = C13(C10C13)C10 = C14(C10C14)C10 = C15(C10C15)
C10 = C16(C10C16)C10 = C17(C10C17)C11 = C12(C11C12)Cl11 = C13(C11C13)C11 = C14(C11C14)C11 = C15(C11C15)
Cl1 = C16(C11Cl16)Cl11 = C17(C11C17)C12 = C13(C12C13)C12 = C14(C12C14)Cl12 = C15(C12C15)C12 = Cl16(C12C16)
Cl2 = Cl17(C12C17)C13 = C14( C13Cl14)Cl13 = C15( C13C15)C13 = C16(C13C16)C13 = C17( C13C17)Cl14 = C15(C14 C15)

Cl4 = C16(C14Cl16)Cl14 = C17(C14C17)C15 = C16(C15C16)C15 = C17(C15C17)Cl16 = C17(C16 C17)
16: COC1 C3C4 C5
C6C8C9C10C11 C12
Cl13C14 C15C16 C17
120: CO = C1,C0 = C3,C0 =C4,C0 = C5,C0 = C6,
C0 = C8,C0 =C9,C0 = C10,C0 = C11,C0 = C12,C0 = C13,
CO = C14,C0 = C15 ,CO = _C16 0=C17,C1 =C3,C1 =C4,
Cl=¢C5,C1 =C6,C1 =(C8,C1 =(C9,C1 =cC10,C1 =C11,
Cl = C12 Cl = C13,C1 = C14 ,C1 = C15 C1_=_C16 Cl = C17
C3_ C4 ,C3 =C5,C3 =C6,C3 =C8,C3 =C9,C3 =_CI10,
C3 = C11 C3 = C12 C3 = (C13,C3 = C14 C3_=_C15 C3 =_C16,
3 =C17,C4 = C5 ,C4 = C6,C4 = C8,C4 = C9 C4 = CI10,
C4 = C11 C4_—_(312 C4 = C13,C4 = C14,C4 =_C15 C4 = Clo,
4 =C17,C5 =C6,C5 = C8,C5 =C9,C5 = C10 ,C5 = C11,
C5 = C12,C5 = C13 C5 =_C14,C5_=_C15 ,C5 = C16,C5 = C17,
Co6 = C8 ,C6_= C9 C6 = C10,C6 = C11,C6 = C12,C6 = C13,
C6 = C14 ,C6 =_C15 C6 = C16,C6 =_C17 C8 = C9,C8 = C10,
C8 = C11,C8 = C12 C8 = C13,C8 = C14,C8 = C15,C8 = Cl06,
c8 = C17,C9 = C10,C9 = C11,C9 = C12,C9 = C13,C9 = C14,
C9 = C15,C9 = C16,C9 = C17 C10 = Cl11 C10 = C12,Cl10 = C13
C10 = C14,C10 = C15,C10 = C16 ,C10 = C17 ,C11 = C12 ,C11 = C13
Cl1 = C14,C11 = C15,C11 = C16,C11 = C17,C12 = C13,C12 = Cl14,
Cc12 = C15,C12 = C16,C12 = C17,C13 = C14,C13 = C15 ,C13_=_C16,
C13 = C17,C14 = C15,C14 = C16,C14 = C17,C15 = C16,C15 = C17,
16 = C17,
4
id:5 level: 1
17: COC1 C3C4C5
C66 C7C8C9C10C11
Cl12C13Cl14 C15C1e6 C17
136: CO = C1(CO0C1)CO = C3(C0C3)C0O =C4(Co0C4)Co =C5(cCcoCh)COo =Ccob(COCO)
CO = C7(COC7)CO =C8(COC8)CO =C9(C0OC9)CO = C10(C0OC10)CO = C11(COC11)CO = C12(C0C12)
CO = C13(C0C13)C0O = C14(C0C14)CO = C15(C0C15)C0O0 = C16(C0C16)CO = C17(COC17) C1_=_C3( C1C3)
Cl = C4(C1C4)C1 =C5(C1C5)C1 =C6(C1C6)C1 =C7(C1C7)C1 =C8(C1C8)C1 =C9(C1C9)
Cl = C10(C1C10)C1 = C11(C1C11)C1 = C12(C1C12)Cl1 = C13(C1C13)C1 = C14(C1C14)C1 = C15(C1C15)
1 =Cl6(C1C16)Cl1 = C17(C1C17)C3 = C4(C3C4)C3 = C5(C3C5 ) C3 = C6(C3C6)C3 =C7(C3C7)
C3 =C8(C3C8)C3 =CY9Y(C3C9)C3 =C10(C3C10)C3 =C11(€C3C11)C3 =C12(C3C12)C3 =C13(Cc3C13)
C3 = C14(C3C14)C3 = C15(C3C15)C3 =C16(C3C16)C3 =C17(C3C17)C4 =C5(C4C5)C4 =Cob(C4aCo)
C4 =C7(C4C7)C4 =C8(C4C8)C4 =(C9(C4(C9)C4 =cCl10(C4C10)Cc4 =cC11(Cc4C11)c4a = cCc12(c4ac12)
C4 = C13(C4C13)C4 = Cl14(c4cCc14)Cc4 =_C15( C4C15)C4 = C16(C4Cl6)C4 = C17(C4C17)C5 = C6(C5C6)
5 =C7(C5C7)C5 =C8(C5C8)C5 =C9(C5C9)C5 = C10(C5C10)C5 = C11(C5C11)C5 = C12(C5C12)
C5 = C13(C5C13)C5 = C14(C5C14)C5 = C15(C5C15 ) C5 = C16(C5 Cl16 ) C5 = C17(C5 C17 ) C6 = C7(C6 C7)
Co = C8(C6C8)C6 =CI9(C6CI9)C6 = C10(C6C10)C6 = C11(C6C11)C6 = C12(C6C12)C6 = C13(C6C13)
C6 = C14(C6C14)C6 = C15(C6C15)Cb6 = Cl6(C6 C ) C6 = C17(C6 C 7)C7 = C8(C7C8)C7 = C9(C7C9)
C7 = C10(C7C10)C7 = C11(C7C11)C7 = C12(C7C12)C7 = Cl13(C7C13)C7 = C14(C7C14)C7 = C15(C7C15)
C7 = C16(C7C16)C7 = C17(C7C17)C8 = C9(C8C9)C8 = C10(C8C10)C8 = C11(C8C11)C8 = C12(C8C12)
C8 = C13(C8C13)C8 = C14(C8C14)C8 = C15(C8C15)C8 = C16(C8C16)C8 = C17(C8C17)C9 = C10(C9C10)
C9 = Cl11(C9C11)C9 = C12(C9C12)C9 = C13(C9C13)C9 = C14(C9C14)C9 = C15(C9C15)C9 = Cl16(C9Cl6)

C9 = C17(C9C17)C10 = C11(C10C11)C10 = C12(C10C12)C10 = C13(C10C13)C10 = C14(C10C14)C10 = C15(C10C15)
C10 = C16(C10C16)C10 = C17(C10C17)C11 = C12(C11C12)Cl11 = C13(C11C13)C11 = C14(C11C14)C11 = C15(C11C15)
Cl1 = C16(C11C16)C11 = C17(C11C17)C12 = C13(C12C13)C12 = C14(C12C14)C12 = C15(C12C15)C12 = Cl16(C12C16)
Cl2 = Cl17(C12C17)C13 = C14( C13Cl14)Cl13 = C15( C13C15)C13 = C16( C13 Cl6)Cl13 = C17( C13C17)Cl14 = C15(C14 C15)

Cl4 = C16(C14Cl16)Cl14 = C17(C14C17)C15 = C16(C15C16)C15 = C17(C15C17)Cl16 = C17(C16 C17)




